# RESOLUTION NO. 24-14 CITY OF CENTERVILLE, OHIO

SPONSORED	BY COU	NCILMEMBER	John	Beals	ON THE	16th
DAY OF	Jane	, 201	4.		_	

A RESOLUTION ACCEPTING THE BID SUBMITTED BY AMERICA'S DECORATIVE CONCRETE, LTD. OF UNION CITY, OHIO FOR THE 2014 CONCRETE PROGRAM (PROJECT SS-1B-14) FOR CONCRETE REPAIR ON STREETS AND SIDEWALKS AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bids for the 2014 Concrete Program according to specifications prepared by the City, and

WHEREAS, America's Decorative Concrete, LTD, of Union City, Ohio, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by America's Decorative Concrete, LTD. of Union City, Ohio for the 2014 Concrete Program (Project SS-1B-14), is hereby accepted in the amount of \$312,042.20. The City Manager is hereby authorized to expend up to an additional \$17,957.80 for additional work if necessary, making the total amount approved \$330,000.00, a copy of which is attached hereto, incorporated herein and marked as Exhibit "A".

Section 2. That the City Manager is hereby authorized to do all things necessary to execute a contract with America's Decorative Concrete, LTD., as stated above.

Section 3. This resolution shall become effective at the earliest date allowed by law.

ATTEST:

Debra () ames

Clerk of Council, City of Centerville, Ohio

# **CERTIFICATE**

Debra a. James

Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

EXHIBIT "A"

# BIDDER'S PROPOSAL

# 2014 Concrete Program

Submitted by: Matt Thompson - Americas Decerative Cencrete

Having read the specifications and examined the drawings included herein:

# 2014 Concrete Program City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

A.	STATEMENT BY ALL BIDDERS:
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.
	Addenda No. 1 Date June 9, 2014
	Addenda No Date
	Addenda No Date
В.	COMPLETION DATE INFORMATION
	The bid price reflected above represents a completion date of October 3, 2014.
C.	CONTRACT PREPARATION INFORMATION
	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.
NAMI	E OF COMPANY/CORPORATION: America's Decoration Concrete
NAMI	E OF PRESIDENT: What Thompson
	RESS: 901 E. Elm St.
CITY,	STATE, ZIP: Which City, DH 45390
	RAL TAX I.D. #:
	PHONE #: 937.968. 4195
	1: 300.904.1950
	IL: <u>Chipaladeroverete com</u>

# D. EXECUTION OF PROPOSAL NOTE: Failure to sign proposal shall result in rejection of bid. THIS PROPOSAL SUBMITTED BY: America's Decorative Concrete, LTD (NAME OF CONTRACTOR) BY: (SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE) Matthew C. Thompson, Sole Member (PRINTED NAME AND TITLE) DATE: June 11, 2014 Contact person for Contract processing: Keith Lavy Mailing address if different from above: Same as above

# UNIT PRICE SHEET

### PROJECT: 2014 CONCRETE PROGRAM

THE CITY OF CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED. RETURN ONE (1) FILLED-IN COPY OF PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS,

REF NUM	SPEC NUM	DESCRIPTION	EST QUANT	UNITS	UNIT PRICE	VWOONI, RID
1A	202	Concrete curb & gutter removed - Isolated	3970	LIF	6.92	27,474.14
113	202	Drive removed, up to 8 inches thick	2056	SF	2.52	5173.4%
IC	202	Sidewalk/Curb ramp removed	5648	SF	2.05	11,586.26
2	203	Undercutting	150	CY	78.81	11,820,84
3	255	Full Depth Rigid Pavement Removal, and Rigid Replacement	990	SY	57,92	57,342.29
4	448	Asphalt Driveway, Type 1, Asph. Concrete Surface Course, PG64-22, medium traffic, 4" thick - 2 lifts	1256	SF	90. م	E6601.34
5	452	Concrete driveway, 6" thick	800	SF	5.44	43lds,47
6	605	Shallow Pipe Underdrain, 6", wrapped, 30" from top of curb	900	LF	10.23	9210.61
7/	608	4" Sidewalk, concrete	5100	SF	6.31	32,171.42
713	608	6° Curb ramp, concrete	598	SF	8.96	5357.02
7C	608	Detectable Warning	50	SF	21.69	1084.73
8	609	Concrete curb & gutter replaced, typ. 21"-30", unless otherwise directed	3970	LF	29.27	116,182.93
9	614	Maintaining Traffic	1	L.S	ଅନ୍ୟ ,	B998.00
10	659	Seeding and Mulching, incl. 4" of topsoil; per length of curb, underdrain (if curb not replaced), pipe, sidewalk	5472	1.F	1.10	5993.02
11	811	Manhole Casting (Frame and Lid)	1	EACH	828.73	825.73
12/	Spec	Cart Crossing Repair	19	SY	217.43	5271.1 <sup>3</sup>
1213	Spec	Geogrid - Tensar TX5 or approved equal	100	SY	4.64	463,57
TOTAL						311,926.38

Note: The items and quantities are projected, and may be modified or removed at the City's discretion without adjustment. Therefore, avoid weighting items because actual quantities could change from the engineer's estimated quantities.